/ ' Name: KEY

Honors Math Midterm Study Assignment

Complete each problem. Show ALL work. No calculator allowed!

FHERRIRARRAXREEWhat can | do if | don’t remember how to do one222***¥¥xkbakadris
e look in your notes _b ; ' i
e Look up old lessons on my' website (these questions are in the order we learned them this year)
e ' Have a friend help you x
~e Find time to ask Mr. Lischwe
e Whatever your solution, find a way to re-learn it. Do not just guess and move on!
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Graph each equation
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Write an equation in slope-intercep;r fpi'm. (y=mx+Db)
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10) Laura got a new pﬂppy, which grew the same number of

d ryear. Th iginally 8 poundy. After 4
pounds per ye epuppywasﬁrlgma v8p j‘ _{f il
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boxes! Making a table might help.)
years, it was 20 pounds. Write an equation that gives :
weight y of the dog x years after she bought it. Yew 0= ¥1bs
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y=3x+3 New 4=20 lbs

shpe
+12lbs in Hyeurs ”-‘HEF'Y“’

Scanned with CamScanner



Say whether each is: A) Not a function; B) A function but nonlinear; C) A function and linear

) X Y s R 1,2) X y Buch ‘m' = y Need to remember 2
X | 223 mw l a3 8 13 hgs i“'{'M a | e “'5 different rules — what
2 | 24 | has mere . 4 | 11 +3 babils I\O'I" 8 e +5 makes something a
Q [ 25| thmeme i 5 14 A a hrﬂ' o O 3 t5 function? And what
2 28 ou’wlﬂ'- 6 21 n:;nge M1 8 45 makes something linear?
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A i A) Not a function A) Not a function and i ;ﬁ t’ M?W
B} A function but nonlinear ) A function but nonlinear B) A funct|on but nonhnear .5
C) A function and linear C) A function and linear ruh of cy\ql’ﬂ?.

~ 14) Draw six points on the graph that
would not be a function. Then expla'in

; ,whv lt is not afunction, WURANSWER MAY VAR
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For 17-19, use the fo!lowing functions:

17) Find h(4). (""9"" us ﬁndm
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1‘8) Find g(6).
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20) Convertto a
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Convert to a fraction. Simplify if necessary.
22)0.1 23)0.12 24)0.123
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REGULAR DECWMALS : TE pracg VALg
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15) Create two equations that would be nonlinear. Each -
equatlon should be in the formy = ‘
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16) Create two equations that would be linear. Each
equatmn shauld be in the form Y=
r— =2,
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19) Find g(-7). |
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21} Convert to a decimal. Show your work: 1—3
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_ . ED‘ROY'Q\'-QHT"Hnj thet con be writln as a fraction
' ' write each letter in the correct box, according to whether it is rational or irrational.
Al Bt _-,md'_wm\"';(:q"s, nihanel
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B: 0. 4285 Terminding decima| = ywtiona] (-gu%)
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G: V36 Emct yoot (6) = rediona
H: V125 Exuct voot (6) =rottional

29) Estimate the value of v/58. Do not use a calculator. Explain your reasoning in words.

‘ﬁ‘;‘? o uten T 3. 63 15 chstr o 61 (ommy) i 49 () 50 VB shouldl be “:‘.’W.n op
@,-3_ £ %%n,7‘m$ﬁmhw 7.5 and 3 )eAmhm Vo,
(Clrest 1 derima] eshmate 15 7.6)

Solve each equation. Find ALL possible solutions. -
30) x* = 64 44z +  31)x? =121 Nethigeitale 0|0’ =27 ws—mET

Solve}a_Qequation. (2 of them are “weird” ones — no solution or infinite solutions)
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Solve eaqh system of equations: ; 1./’ 'lp? s 1
= : 6x—3y =3 y=x—3
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